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QUESTION 1

An administrator needs to determine which coordinator disks or coordination point servers are being used for fencing.
Which file is created by the fencing driver at cluster startup and contains the needed information?

A. letcivxfenmode

B. /etc/vxfendg

C. letc/vxfentab

D. /etc/vxfen.d

Correct Answer: C

QUESTION 2

Where is the sysoffline trigger executed if a node goes into a jeopardy state or leaves the cluster?
A. on all nodes in the cluster regardless of state

B. on the node that goes offline by entering a jeopardy state or leaving the cluster

C. on all the nodes in the cluster that are still in a RUNNING state

D. on the lowest numbered system in the cluster with a RUNNING state

Correct Answer: D

QUESTION 3

An administrator is evaluating the suitability of an application to be clustered which can failover to another node in the
cluster in an event of an application outage using Veritas InfoScale Availability.

Which condition prevents the application from being made highly available?

A. The application requires the use of solid state drives for performance.

B. The cluster is NOT configured with public low priority link.

C. Individual unigue instances of the application cannot be monitored on the system the application is running.
D. After a crash, the automated clean-up takes at least one minute before the application can be restarted.

Correct Answer: D

QUESTION 4
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Which command should an administrator perform to transition a resource state from “waiting to go online\\' to "not
waiting\\' if the operation hangs on a particular resource?

A. hagrp -flush

B. hagrp -flush -force
C. hares -flushinfo
D. hares -clear

Correct Answer: B

QUESTION 5

Which attributes are required for configuring the Oracle agent for Veritas Cluster Server?
A. SID, DBAUser, EnvFile

B. SID, DBAUser, DBAPword

C. SID, Owner, Home

D. SID, Owner, MonitorOption

Correct Answer: C
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